RABJ F—VA O—-5—

ReHS L
S
2
D
8ol T s
i
‘Jé LJd_z
cl B c‘
BE | AFUVS- L08R
K715
il 2F—I
. Fr I
B & [N7|ood|B|L Bt || A|c| B2 N e e
RABJ35-30 30| 6| 6|12 17 [ 13 3 | 6062Z| 20|| PID0G0G
RABJ35-40 | 35 | 40 | 10| 8|15 | 4.4| 26 | 22 | 2.2|3560002Z| 40|| PID1008%17
RABJ35-50 50 [12 [ 10 | 16 32| 2 3 62012z 70|| PID1210447
RABJ40-40 4010 815 26| 22 35|60002Z| 40|| PID1008%17
RABJ40-50 | 40 |50 |12 |10 |16 | 7.6 32 | 26 | 2.3|3 |62012z| 70|| PID1210447
RABJ40-60 60 | 15 | 11 | 19 35| 29 4 |62022Z|100|| PID1511%47
RABJ50-50 5010 8 2 | 22 55|60002Z| 65|| PID1008%17
RABJ50-60 | 50 | 60 | 12 |10 |19 | 9.1/ 32| 26 | 2.7 | 4.5 |62012z| 100 || PID1210447
RABJ50-70 70 [15 | 11 35| 29 4 |62022z| 130 || PID1511447
RABJGO-60 | 60 10| 8/ .| [26]22| 175[60002z|110|| PID10085(7
RABJ60-70 70 1210 “I32 [ 26 | **[6.5|62012Z| 150 || PID1210%17

c FI— DREIO—F—ELTSERICENET,
s RN T )T IEDE TEEL THIET,

el - EFT;

™~ PART— AT BER T
WA ST HEAICEMTT,

£ - #18A TEL.0575-28-4811 TEL.0575-32-2239

(RSATFoar—BAEERIEZED LIERLE
3y, (P. 948 HR)

CRTYTOHAECDEEL T 7ART—%
S0, (P. 952 BHR)

N7V DZIT7IVEE (N) (Fi9F4a 300085 B EARE)
~TUG EEEE (min—")
mE 1000{1500|2000 (2500
60622 310]270 | 250 | 230
600022 640| 560 | 500 | 470
620122 9401830 | 750 | 700
620222 1080|940 | 850 | 790

e

3500
200
420
620
710

100
680
1370
2040
2310

500

390
1090
1190
1350

3000
210
440
650
740

BERmN—Y
- PIDI(P. 974 £8)
- PID-FI(P. 975 £ER)

9 I-KL-DaD



